MPTH 2230 P

b o IR w9l
Toprest (U Hammenc. conuagte
: @ Eﬁvohen{rﬁ\\ ‘PLAV\UC?DY\ Chﬂcl LOSCAVrJ(t\W\Tc ‘puﬂ L’(' 101
(2) Comglex Cxpongnts
@ /Lh\ﬂZ\rSe/ cf% —tprgommzﬁfc, iauﬂcfﬂron .

_l/_t_q‘f Mot & C°"’:; Ugafe

L‘x)t :(ZIMF/T- o [)\ ’EU\UGOY\ ‘P;‘Ql-'q 2 7% havinonic T’p e b ConﬁnowsH
. ctil@renf?a\ale/ Al A +10\,7 = 10)4 _

o W faut T Oxnal\{tr(_,) then WY v ave harmonic.

o Fuvtheyms e, deformimes /U P o om addrfive. constant -

1
[

OQJQ\ e C’fw@n 7 thge, COhtTV\UOUS[y J‘;M@eh’[m\ale, L 1-[121-*':7 172-
3 I’\OKMOV\TC/ Corpragie U‘P o e o ‘ﬁw"iéa_, COthhmMSl7 J}Rﬂﬁereﬂtﬁ\%
fanetion  vIIRPFIE st fautv B onaytic
Equ'ivolﬁﬂﬂy/ it wears W M \/ fﬁ{ﬂfﬁf\f ‘EI'\L QZ- eqfh :
Ux = Vy
Uy = ~ V¥

0 Lo Hoo f T G
7 1
Ef\awEla“— ) Lotk (f,\/W: e +g7‘Y |
bzt \/ \76 O\ MVMnTL CO“J\LSO\/[Q G‘F Vi

Then we hove ( Ux = V

U‘j’:ﬁ f\/?( ,
=) Vi f_-;,f),_,?%’l',p?f____._-l
V%:L---'égxy =<



g

EGW\“E ) s o hovmanic G’ff)\kﬁafe, dp Ve
£=7) %id*fi\/ 15 qnﬂu\?rtf(,
[=) -'T‘F SN T e Oln&ljj(fé ;
[=) () 15 o hawenic Cg@uﬁu’(a/ s A
Al Crlinae <, s we Un Use the same method 1 pﬂ«c\ A
el 4‘# e an&y’(’{"c-

E xfﬂ Ymv\f‘m\ - ’@qv\c:f/.ron

D(?‘Ln \ | _@fb o) @/x-l-T‘i; 6?(' @,T\/ ~ 6% CCaQ\/‘f’TS'?m\/)
E%am&l ‘] gl\ow ‘tl(\o\t IQW (%:L] \é pr(\ﬂ]‘) . ool
Pro: LHS- = lesp @9 = lexg Oy + il €
B <ty

11‘4 St Qﬁp(l%lq) = & *
= e (e ek Uz
M(}'?EMV} Qq@JK», \r\ﬂuS T‘Q-P \”L'}O JT-Q.. % élp-\ _-

)\/Ow A glnt ta solve the ¢ (|wotion Q,%"—-"-*W; w €L
Wiite  Tzk4iy, we hovt T
R R \wl &

=) @Kf——(\«/‘ CMJ Y = o{kg(u)

:7 x:ﬂntWI s e p[‘f'yQ’"H—fz"‘TT ey

TH“ ) tOS (V/) s JZV\ l wl 'l’r a’fﬁ’ (l/ ) : OV\U\ {T*Wl\ﬂecl 'QAY\C rro n ?
St & ng (}ﬂ = /Q_n\w\ + ij?(u) (ijyl{, fvalu(?c( ‘ﬁ\u\({{oh)
(ol ulile ) Hrﬂd\C\M) ;- Congle- AL Gt

g Land
s frgulu 1€ b, L1795 |

Cuanpls 1) Find byt 5371 LogClifii) an) foge (C1457)



Bns © log (1455) = Jul -14F:] +Tovg (-1430)
=k (22 +%x)

LOB Eo 0 (e )

l9j—r( (A JJ@‘:) = /an t ({2"2"-\' ‘)_’ﬁ)

C. w_\_@_lﬂx E" MonU?n{,

D__@‘P_‘li ]%)Y Z ”%o/ & C Q,} %C & ‘Z/c,loﬁ% (Mu!t:f\/ﬂldﬂi l\ancf’fonﬁ

' EN ) g (l=1)
Cxgeles ) T6E ) o - i
= Qtr) S AISAN, avgfl"T])

—

e :
& G ()~ + T("’% J(’Zn’m)
& C
~ (DR ) 4 7 () - )
&
&

_ﬂnﬁ *%—"q’hﬁ ) Cﬂ—"\ﬁ*%]

£ %-—"LW"\' + (ﬂhﬁf’%)
fe i 25

ST X (-4537) CQnl 3] 4 Tare 2))
0 Cree = 0 g
(-141R7°) [ﬁhi 4+ (_ﬁ ""—ZHT\))

~n “"ﬁ(ﬁ’\rln'ﬁ) 4‘ | (ﬁjn@ N
TG

S R (2 2T )
%

\

o :
i & (T 41 (3fnR)
3

_—

H

4

—
—



rpr;r\c'iplg, \/O\(we O,P C———%j_{%ﬁq

el S U2
el

TR
M‘M

8% ”11 r_'t "T-i.'
Dﬁ@b‘“ Sl @l S T +€,_
LS id G
iv\ Terms SP %y oo ¥ el e
fiot 1T
Cos = € ’l’ﬂE’,_ e e
el s
= __Q/”(-'Y‘_l"__ Q: -
. ’ \/ s
— ’71; ( 61 (Caéx+ k) + e Cc«:sx -—--16m7<ﬂ
L= e Sy Y
Sy R TGN SR B il
oA SR
=G shy——1 STk Sinhy

2) leszl®= o hy + siaxsinhy
= Cbﬁz% o ngnWﬂ £ Sh % dnl{"/
s P T G

%VQHQ, 6{: 'ﬁfjomwtz -ch fon
Cag: 1) Find e’z

Ans Lot wepas T
/ﬂ"QV\ CoSiv = T



= ) Lol G P o il Gh)
e L)
= i a0+ TE Aoy Sdalt i
= (Ean) -1 Inli2) o (Eawm] (R

--f_.';_ Flh'ﬁﬂ

L)



